WWW I.

e‘ﬂ‘ 53

dllIIUI CUIn (.5—‘-““/‘-‘

5 CJ_}A.\.“

= \
It Fiwi (2) 5 (1) e
RS x RS = RM x RL
RS? = RM x RL
:@m\@ﬂi
. g2 das ABC &lial) b ol Jobi aa T (1
AB? = (2v6) =4 x 6 =24 L)
AC*=1?=1
BC? =52 =25
BC s ABC &didl i ol ST o))
LAl a8 ABC Gl of o - o
AB?> + AC?>=24+1=1
BC? =25 Ll
BC? = AB? + AC? O
DO ASall () e U A3 Hue Qs )
A Syl s ABC cbia)
EF cuai (2
E 843l Al clie FFG Cliall Ll
DO bl u gL Aas Hae Qs ()
FG? = EF? + EG?
2 2
(2v5)" = EF?2 ++/5
20 =EF?+5
EF?2=20-5
EF? =15
EF =+/15
:&m‘&fﬂ\
x2—4 5 y?—4 ool v (1
x>y Ll
x% > y?
x?—4>y%—4

] eamaat
.dfi\ o gl
RN «wai(1
N € (RT) s M € (RS) : RST &lidl i Lyl
(MN)//(ST)

Ol 8l Gl din e i O

RS RT ST
2 RN MN
5" 6 ST
2 RN
5 6
2x6 12
5 5
(SN)//(TL) : ol o (2

N € (RT) 5 S € (RL) : RLT &Lidl i Ll
R & Jablsy (RT) 5 (RL) Olesiivdl g

RS2 o4 s
RL 125 :
12
RN T _12 1 12 ., J
RT 6 5 6 30
RS RN )
RL_RT 0t o

i e S L 5 S 5 R Al Ll ) Ly

T}NjRZ\,gA:@LmMLEﬂ\

D OM Aall Gl A58 e Cos ()
(SN)//(TL)

RS? =RM xRL :0lo=(3

: RST &bl é Ll

0 RM RN

RS ~ RT
 RLT &bl gé Ll

RS RN

@ RL=&T




& 1 L 2 S\ as - E B Y L] 0 at
WWW. AIdITHUL. COUTTT G284 &= 38 g/ =l T e~ &

a .
T - )
th

1 1 1
2X§<GXE<5XI
2 a
§<E<5

a?+b?
2ab

—-1>0 S BTt
2ab ol ol

>1 :Qibﬁ -

a® + b? 1_a2+b2—2ab "
2ab B 2ab :

_a*=2ab+b* (a—b)’
B 2ab ~ 2ab

(@a—b)2>0 s 2ab>0

(a—b)?
2ab

>0 Qo

a’ + b?
2ab

—1>0 A

a’ + b?
2ab

>1  Juug

D —2x+1 s —=2y+1 ool v
x>y Ll
2x = 2y
—2x < =2y
—2x+1<-2y+1
s V5x s W5y ooal v
X2y Gl
\/§x2\/§y
3vV5 5 26 (weadl 0B (2

(2v6)" = 4 x 6 = 24
(3v5) =9 x5 = 45
24 < 45
(2v6)" < (3V5)’

26 < 35
1 1

1+3v5 °  1+2V6
246 < 3v5 Ll
1+2V6 <1435
1 1
1+2\/E>1+3\/§
ta—bJokl -1 (3
2<a<b
1<bhb<3
24+1<a+b<5+3

&)l adicd

3<a+b<8 ‘
:a—b

2<a<5
-3< -b< -1
2—-3<a-b<5-1
-1<a-b<4






